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Dime a Dozan Diamonds makes synihti diamonds by teating carbon Each diamond can be sod for S100.
Tha materias coet for & standard damond  $30. The fed coss ncurre cach year or faciory upkeep.
2 simistaive oxpenses are 5200,000. The machinery costs $1 miion and s depreciated st ine
v 10 years 1o salvage valuo of 610

& What i e accounting break-even fevol ofsales n erms of umber of damonds sold?

b, What s the NPV breat-even sales assuming 1 rato of 36 percent, a 10-year project e and @ Siscount
ate of 12 porcent?

Solution

Probiom 85

n part . enter th formila 0 calulate th break-even point. n par b, enter the formuias to calcuole
e ko foms (you wil Know et your ormulas re corectf he NPV i approxmety equal 0.0
. Whatis he accounting braak-even levol ofsales n forms of pumber of diamonds soid”

Accounting break-even point. FORMULA  damonds

o Wihat s fho NPV break-sven sales assuming a ax ale f 35 parcent,  10-year poject e and a discount
e of 12 percont?

Number of gamonds. 5978
Aonaty factor 5650
Revenue FORMULA.
Vaiabie Expanses FORMULA
Depreciaton FORMULA
Foxas expenses.

Cash Flow FORMULA
Present valuo o cash fow 5000
Nt prosent vave. (61000,000.00)

FINS44 — Problem 9,

9. a  Eachdollar of sales generates $0.70 of pretax profit. Depreciation is $100,000 and fix
costs are $200,000. Accounting break-even revenues are therefore:

fixed costs including depreciation

Break-cven revenue =
additional profit from cach additional dollar of sales

The firm must sell ?77? diamonds annually.
b, Call Qthe number of diamonds sold. Cash flow equals

(1~ 35)(Revenue — expenses) + .35 x depreciation

The 12%, 10-year annuity factor is 5.650. Therefore, for NPV to equal zero,




